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BEOREETER 12 38 50 60 110 110
SR BEE 6 24 30 60 90 90
YNV AEINREER 12 48 60 90 150 150
AEREE 16 39 55 95 150 150
SHEREE 12 28 40 80 120 120
RBEFT BIEEERE 15 60 75 120 195 195
CHTRBER 10 50 60 100 160 160
AT BFOMEEE 15 70 85 135 220 220
BolEEEER 20 65 85 135 220 220
LLWOKREBE 6 24 30 40 70 70
INEF 124 446 570 915 1,485 1,485
SRS R AT _ LB B E 3 16 19 0 19 19
INET 3 16 19 0 19 19
YNV =R 20 20 85 105
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SE)shiER 310 310
it Fhsr AR 320 320
FEIBESHHEER 400 400
ARSI R 50| 150
THE 2 R 150 150
INET 20 20 1,685 1,705
FIFAEEREHEET 127 462 589 935 1,524 1,685 3,209
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